Lattice Multiplication (G)

08 X

404

48 X

218

38 X

327

Use lattice multiplication to find each product.

93 X

895

35 X

536

60 x

394

= 56 x 363

= 87 x 244

= 98 x 707

= 63 x 804

= 63 x 506

— 23x382=
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Lattice Multiplication (G) Answers

Use lattice multiplication to find each product.

9 3 5 6 6 3
7 /12 3 1 1 3 4 /12 2
8l 2| 4 21/ 5 8 5 8l 4
8 12 9 3 /13 6 0 0 0
3 | 7 o, 0,/ 6 0, 0o 0
4 I 5 I I 3 2 I 4
2 5 5 3L 5 8 6/ 4/ 2
3 5 2 8 5 2
93 x 895 = 56 x 363 = 63 x 804 =
83,235 20,328 50,652
3 5 8 7 6 3
1 2 5 1 1 ’ 3 1 5
1 5, 5 21,7 6|/ 4 3,7 0 5
0 1 3 3 /2 4 0 /10 0
8, 9 5 1 21, 8 | 0, 0
1 3 6 3 /12 4 3 1 6
7 8 0 21,7 21/ 8 8| 6|/ 8
6 0 2 8 7 8
35 x 536 = 87 x 244 = 63 x 506 =
18,760 21,228 31,878
6 0 9 8 5 3
| 0 6 /5
2 8 0 3 6 3 6 ! 0 0 6 0 o 3
5 /10 9 0 10 0 1 5
3 4,0 9 0, 0 o ¢ 4 8
2 10 4 6 /15 7 5 ) s
6,/ 4 0 2 3 6 ; 4 6 2
4 0 8 6 —
60 x 394 = 98 x 707 = .
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